



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{5}\right)^{(-1)} + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{5}\right)^{(-1)} - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^2 + \frac{3}{4} =$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right) - \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{1}{2} =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{1}{25}\right)$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{1}{2}\right)$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{2} = \frac{43}{50}$$

$$\left(\frac{1}{2}\right)^0 + \left(-\frac{3}{4}\right) = \frac{1}{4}$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{4} = \frac{5}{18}$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{2} = \left(-\frac{7}{16}\right)$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{3}{5}\right) = \frac{113}{180}$$

$$\left(\frac{1}{5}\right)^{(-1)} + \left(-\frac{1}{2}\right) = \frac{9}{2} = 4\frac{1}{2}$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{22}{45}\right)$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{22}{75}\right)$$

$$\left(\frac{1}{5}\right)^{(-1)} - \left(-\frac{2}{5}\right) = \frac{27}{5} = 5\frac{2}{5}$$

$$\left(-\frac{1}{4}\right)^2 + \frac{3}{4} = \frac{13}{16}$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{1}{2} = \frac{11}{6} = 1\frac{5}{6}$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{1}{2} = \frac{9}{2} = 4\frac{1}{2}$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{3} = \frac{13}{36}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{3} = \frac{7}{12}$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \frac{1}{2} = \frac{7}{2} = 3\frac{1}{2}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{2}\right) = \frac{3}{4}$$

$$\left(\frac{1}{2}\right) - \frac{1}{2} = 0$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{1}{2} = \frac{11}{6} = 1\frac{5}{6}$$